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1. If sin x = 4/5, find the remaining ratios.
sinx =
COS X =
tanx =

siny =

cosy =

tany=

3. If tan x = 8/15, find the remaining ratios.
sin x = X

COS X =
tanx =

siny =

cosy =

tany = y=

2. If cos x =9/41, find the remaining ratios.
sinx =
COS X =
tan x =

siny =

cosy =

tany= y:

4. If sin x = 8/13, find the remaining ratios.
sinx =
COS X =

tanx =

siny =
cosy=

tany = y=



5. If cos x = 11/17, find the remaining ratios.

sinx = X

Cos X =

tanx =

siny =
cosy =

tany=

7. If sin x = 10/13, find the remaining ratios.

sinx = X
cos X =

tan x =

siny = _I

Cosy= X=

tany=

9. If sin x = 14/19, find the remaining ratios.
sinx =
COS X =

tanx =

siny =
cosy =

tany = y=

6. If tan x = 16/5, find the remaining ratios.
sinx = X
CosS X =

tanx =

siny =
cosy =

tany=

8. If tan x = 8/11, find the remaining ratios.
. X
sinx =

COsS X =

tanx =

siny =
cosy = X=

tany =

10. If cos x = 9/14, find the remaining ratios.
sinx = X
COS X =

tanx =

siny =
cosy=

tany = y=



